
Timely Practice ratio strand 4 new learning questions

CALCULATOR OK

1. Bruno and Mark share some money in the ratio 5 : 3

Mark gets £156

Work out how much Bruno should have.

2. A park rents out rowing boats and pedalos on a lake.

The ratio of the number of rowing boats to the number of pedalos is 2 : 5

There are 35 pedalos on the lake.

Work out the number rowing boats on the lake.

3. Cheryl and Nadine share some money in the ratio 5 : 2

Cheryl gets £4200

Work out how much Nadine should have.

4. Becca and George share some money in the ratio 13 : 5

Becca gets £11.70

Work out how much George should have.

Answers: 1) Bruno £ 260 2) 14 rowing boats 3) Nadine £ 1680 4) George £ 4.50
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